
5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

1 9Wednesday, September 29, 2010

SB-A510    01. INDEX
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

1 9Wednesday, September 29, 2010

SB-A510    01. INDEX
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

1 9Wednesday, September 29, 2010

SB-A510    01. INDEX

PCI-E MUX and PCI BRIDGE

MISC.

POWER

09

07

CONNECTORS 2

02

INDEX

DVI and LVDS TRANSMITTERS

05

CM-A510 INTERFACE

CONNECTORS 1

03

PAGE

04

FUNCTION

01

08

06

PRODUCTION

SB-A510 rev 1.0

PCB1

PCB, SB-A510 Rev 1.0

PCB1

PCB, SB-A510 Rev 1.0

ZZ1

PARSER_VERSION_1.0

ZZ1

PARSER_VERSION_1.0



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

LCD_D23
LCD_D22
LCD_D20

LCD_D17
LCD_D15
LCD_D13
LCD_D12
LCD_D10

LCD_D0

LCD_D7
LCD_D5

LCD_D2

LCD_D4

LCD_D3
LCD_D1

LCD_D6
LCD_D8
LCD_D9
LCD_D11

LCD_D14
LCD_D16
LCD_D18
LCD_D19
LCD_D21

VCC_RTC

5VSBY5VSBY

VCC3_3
LCD_D[23:0] 3

I2C0_SCL 3,8
I2C0_SDA 3,8

LCD_HSYNC 3
LCD_VSYNC 3
LCD_DE 3

LCD_CLK3

SD0_DATA0/GPIO424
SD0_DATA1/GPIO434
SD0_DATA2/GPIO444
SD0_DATA3/GPIO454

SD0_CLK/GPIO404
SD0_CMD/GPIO414

PCIE0_TX_P6
PCIE0_TX_N6

PCIE0_RX_P6
PCIE0_RX_N6

PCIE0_CLK_N 6
PCIE0_CLK_P 6

PCIE0_nCLKREQ 4,6,9

USB2_DN 5
USB2_DP 5

USB3_DN 5
USB3_DP 5

USB3_CPEN 5
USB1_DN5
USB1_DP5

USB0_DP5
USB0_DN5

USB1_CPEN5
USB2_CPEN5

USB1_nOVC5
USB2_nOVC5
USB3_nOVC5

SATA_RX+5
SATA_RX-5

SATA_TX-5
SATA_TX+5

TS_X+ 5

TS_Y+ 5

TS_X- 5

TS_Y- 5

I2S1_BCLK/SSP_SFRM/GPIO53 5,9
I2S1_SDI/SSP_TXD/GPIO52 5
I2S1_SDO/SSP_RXD/GPIO55 5,9
I2S1_LRCLK/I2C2_SDA/GPIO56 5
I2S1_MCLK/SSP_SCLK/GPIO54 5

SPDIF_OUT 4,8

AUDIO_OUT_L 4
AUDIO_OUT_R 4

AUDIO_IN_L 4
AUDIO_IN_R 4

AUDIO_GND 4
MIC_BIAS 5

MIC_IN 5

PMC_nRST9
PMC_SCK9

PMC_MISO/PMC_MISC19
PMC_MOSI9

JTAG_CLK5
JTAG_nTRST5

JTAG_TDO5
JTAG_TDI5

JTAG_TMS_CPU5

SYSRST_INn 5

VGA_HSYNC4
VGA_VSYNC4

VGA_R4
VGA_G4
VGA_B4

RS232_RTS 4
RS232_CTS 4

RS232_RXD 4
RS232_TXD 4

UART1_TXD/GPIO635
UART1_RXD/GPIO625

CAM_HSYNC/GPIO33 4,5,9
CAM_VSYNC/GPIO34 4,5,9

CAM_CLK/GPIO35 4,5,9

CAM_D5/GPIO29 4,5
CAM_D6/GPIO30 4,5
CAM_D7/GPIO31 4,5

CAM_MCLK/GPIO324,5,9
CAM_SNR_CTL0/GPIO384,5
CAM_SNR_CTL1/GPIO394,5

CAM_D0/GPIO244,5
CAM_D1/GPIO254,5
CAM_D2/GPIO264,5

CAM_D3/GPIO274,5
CAM_D4/GPIO284,5

I2C2_SCL 8

SPI2_CLK/GPIO23 9
SPI2_MOSI/SD0_PWREN/GPIO22 9

SPI2_MISO/SD0_CD/GPIO20 9

GPIO188

UART2_TXD/GPIO145
UART2_RXD/GPIO155

SD0_CD/GPIO164
I2C2_SDA8

BOOT_SCR0 8,9
BOOT_SCR1 9
BOOT_SCR2 9

nRST_IN 8

PMU_EXT_WU0 8

PMC_MISC0 5
nSLEEP_PER 7

SYSRST_OUTn5,9

FLASH_nWP8

LAN0_MDIN1 5
LAN0_LED1 5

LAN0_MDIP3 5
LAN0_MDIN3 5

LAN0_MDIP1 5LAN0_MDIP05
LAN0_MDIN05

LAN0_MDIP25
LAN0_MDIN25

LAN1_MDIP05
LAN1_MDIN05

LAN1_MDIP25
LAN1_MDIN25

LAN1_LED05

LAN1_MDIP1 5
LAN1_MDIN1 5

LAN1_MDIP3 5
LAN1_MDIN3 5

LAN1_EEDI_LED2 5

LAN1_EESK_LED1 5LAN0_LED05

CAM_I2C_SCK4,5
CAM_I2C_SDA4,5

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

2 9Thursday, October 07, 2010

SB-A510    02. CM-A510 INTERFACE
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

2 9Thursday, October 07, 2010

SB-A510    02. CM-A510 INTERFACE
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

2 9Thursday, October 07, 2010

SB-A510    02. CM-A510 INTERFACE

100uF

C183

100uF

C183

100uF

C185

100uF

C185

C203

100nF

C203

100nF

C201

100nF

C201

100nF

BASE B

LAST MODIFIED:
MARCH 25,2009
(CAMI 3)

P2

UNIFIED MODCON

BASE B

LAST MODIFIED:
MARCH 25,2009
(CAMI 3)

P2

UNIFIED MODCON

MDI2_0+2

MDI2_0-4

ETH_LED2_06

GND8

MDI2_2+10

MDI2_2-12

GND14

GPIO016

GPIO118

RESET20

TIMER_SPKR22

SMB_ALRT24

GND26

GPIO228

GPIO330

SDC_WP32

SDC_PWEN34

DEBUG336

GND38

DEBUG440

HDA_SDIN 117

HDA_BCLK 119

HDA_SYNC 125
HDA_SDO 123

GND52

HDA_RST 121

SDA_D054

SDA_D156

SDA_D258

SDA_D360

GND62

SDA_D464

SDA_D566

SDA_D668

SDA_D770

SDA_CD72

GND74

SDA_CLK76

SDA_CMD78

SDA_LED80

SDA_WP82

SDA_PWEN84

GND86

LPC_CLK88

LPC_AD090

LPC_AD192

LPC_AD294

LPC_AD396

GND98

PCIE2_RX-100

PCIE2_RX+102

PCIE_RST104

PCIE0_RX-106

PCIE0_RX+108

GND110

PCIE0_TX-112

PCIE0_TX+114

FLASH_WP46

SATA0_RX-118

SATA0_RX+120

GND122

SATA0_TX-124

SATA0_TX+126

SATA_LED128

USB4-130

USB4+132

GND134

USB_OC4_5136

USB5-138

USB5+140

MDI2_1+ 1

MDI2_1- 3

ETH_LED2_1 5

GND 7

MDI2_3+ 9

MDI2_3- 11

ETH_LED2_2 13

PCIE_CLK1E 15

PCIE_CLK0E 17

VCC5 19

SMB_CLK 21

SMB_DAT 23

I2C_DAT 25

I2C_CLK 27

NAND_WP 29

VCC5 31

RSTIN 33

PWRBTN 35

SDC_D0 37

SDC_D1 39

SDC_D2 41

VCC5 43

SDC_D3 45

SDC_CD 47

SDC_CLK 49

SDC_CMD 51

SDC_LED 53

VCC5 55

SDB_WP 57

SDB_PWEN 59

SDB_D0 61

SDB_D1 63

SDB_D2 65

VCC5 67

SDB_D3 69

SDB_CD 71

SDB_CLK 73

SDB_CMD 75

SDB_LED 77

VCC5 79

PCIE_CLK1- 81

PCIE_CLK1+ 83

LPC_INIT 85

LPC_FRM 87

LPC_SERIRQ 89

VCC5 91

PCIE2_TX- 93

PCIE2_TX+ 95

VCC_SBY 97

PCIE_CLK0- 99

PCIE_CLK0+ 101

VCC5 103

PCIE1_RX- 105

PCIE1_RX+ 107

PCI_WAKE 109

PCIE1_TX- 111

PCIE1_TX+ 113

VCC5 115

SPARE442

SPARE5/CHRG44

VCC_SBY116

SPARE6/BT_FLT48

SPARE6/PM_BT50

VCC5 127

MIC_IN 129

AIN_R 131

AIN_L 133

VCC5 135

AOUT_R 137

AOUT_L 139

C198

100nF

C198

100nF

C194

100nF

C194

100nF

C192

100nF

C192

100nF

C188

100nF

C188

100nF

C195

100nF

C195

100nF

C196

100nF

C196

100nF

C190

100nF

C190

100nF

C204

100nF

C204

100nF

BASE A

LAST MODIFIED:
MAY 5, 2009 (CAMI 3)

P1

UNIFIED MODCON

BASE A

LAST MODIFIED:
MAY 5, 2009 (CAMI 3)

P1

UNIFIED MODCON

MDI1_0+2

MDI1_0-4

ETH_LED1_06

GND8

MDI1_2+10

MDI1_2-12

GND14

PWRGOOD16

SPDIF_OUT18

HDA_SDAIN120

SPARE222

SPARE324

GND26

SDVO_BCLK-28

SDVO_BCLK+30

SDVO_CTRL_DAT32

SDVO_INT-34

SDVO_INT+36

GND38

SDVO_RED-40

SDVO_RED+42

SPARE044

SPARE146

LVDS_BLT_CTR48

GND50

LVDS_A0-52

LVDS_A0+54

LVDS_BLEN56

LVDS_A2-58

LVDS_A2+60

GND62

GPIO664

GPIO766

GPIO868

GPIO970

GPIO1072

GND74

LCD_R176

LCD_R378

VCC_SBY80

LCD_R582

LCD_R784

GND86

LCD_G288

LCD_G490

LCD_G592

LCD_G794

LCD_B196

GND98

LCD_B4100

LCD_B6102

LCD_B7104

LCD_PWREN106

LCD_CLK108

GND110

COM2_RX112

COM2_TX114

DEBUG0116

DEBUG1118

DEBUG2120

GND122

COM1_RI124

USB_CL_PRES126

USB_OC0_1128

USB0-130

USB0+132

GND134

USB1-136

USB1+138

VCC_SBY140

MDI1_1+ 1

MDI1_1- 3

ETH_LED1_1 5

VCC5 7

MDI1_3+ 9

MDI1_3- 11

ETH_LED1_2 13

SUS_S3 15

GPIO13 17

VCC5 19

SDVO_TVCLKIN- 21

SDVO_TVCLKIN+ 23

SDVO_CTRL_CLK 25

SDVO_GREEN- 27

SDVO_GREEN+ 29

VCC5 31

SDVO_BLUE- 33

SDVO_BLUE+ 35

VCC_RTC 37

SDVO_FLDSTALL- 39

SDVO_FLDSTALL+ 41

VCC5 43

GPIO12 45

LVDS_DID_CLK 47

LVDS_DID_DAT 49

LVDS_A1- 51

LVDS_A1+ 53

VCC5 55

LVDS_A3- 57

LVDS_A3+ 59

LVDS_PPEN 61

LVDS_CLK- 63

LVDS_CLK+ 65

VCC5 67

GPIO4 69

GPIO5 71

GPIO11 73

LCD_R0 75

LCD_R2 77

VCC5 79

LCD_R4 81

LCD_R6 83

LCD_G0 85

LCD_G1 87

LCD_G3 89

VCC5 91

LCD_G6 93

LCD_B0 95

LCD_B2 97

LCD_B3 99

LCD_B5 101

VCC5 103

LCD_DE 105

LCD_VSYNC 107

LCD_HSYNC 109

COM1_DSR 111

COM1_DCD 113

VCC5 115

COM1_RX 117

COM1_TX 119

COM1_RTS 121

COM1_CTS 123

COM1_DTR 125

VCC5 127

USB2- 129

USB2+ 131

USB_OC2_3 133

USB3- 135

USB3+ 137

VCC5 139

C205

100nF

C205

100nF

100uF

C184

100uF

C184

C202

100nF

C202

100nF

C187

100nF

C187

100nF

C199

100nF

C199

100nF

C193

100nF

C193

100nF

C189

100nF

C189

100nF

C200

100nF

C200

100nF

C186

100nF

C186

100nF

C197

100nF

C197

100nF

C191

100nF

C191

100nF

100uF

C182

100uF

C182



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

LVDS_N0
LVDS_P0

LVDS_P1
LVDS_N1

LVDS_P2
LVDS_N2

LVDS_VCC

LVDS_R_FB

PLL_LVDS

LCD_D8_T
LCD_D9_T
LCD_D10_T
LCD_D11_T
LCD_D12_T
LCD_D13_T
LCD_D14_T
LCD_D15_T

DVI_TVDD

LCD_D16_T
LCD_D17_T
LCD_D18_T
LCD_D19_T
LCD_D20_T
LCD_D21_T
LCD_D22_T
LCD_D23_T

ISEL

DVI_PVDD

FULL_SCALE_ADJUST

BSEL
DSEL

DESKEW_MSB
DESKEW_MIDDLE_BIT
DESKEW_LSB

DVI_DVDD

DCLKP

D1P
D1M

DVI_RISEDGE_EN

DVI_DESKEW_ENABLE

DCLKM

LCD_DE_T

D0P
D0MLCD_D0_T

LCD_D1_T
LCD_D2_T
LCD_D3_T
LCD_D4_T
LCD_D5_T
LCD_D6_T
LCD_D7_T
LCD_PCLK_T

D2M
D2P

LCD_D23
LCD_D0
LCD_D1
LCD_D3

LCD_D5
LCD_D8
LCD_D10
LCD_D11

LCD_VSYNC
LCD_D12
LCD_D15
LCD_D17

LCD_D19
LCD_D21
LCD_D18
LCD_D20

LCD_D22
LCD_HSYNC
LCD_D2
LCD_D4

LCD_DE
LCD_D9
LCD_D7
LCD_D6

LCD_D13
LCD_D14
LCD_D16

VREF
LCD_HSYNC_T
LCD_VSYNC_T

LCD_DE_T

LCD_HSYNC_T
LCD_VSYNC_T

LCD_PCLK_T

LCD_D0_T

LCD_D8_T

LCD_CLK

LCD_PCLK_T2
LCD_PCLK_T

I2C_GPIO02

I2C_GPIO04

I2C_GPIO03

VREF

LCD_D2_T
LCD_D3_T
LCD_D4_T
LCD_D5_T
LCD_D6_T
LCD_D7_T

LCD_D10_T
LCD_D11_T
LCD_D12_T
LCD_D13_T
LCD_D14_T
LCD_D15_T

LCD_D18_T
LCD_D19_T
LCD_D20_T
LCD_D21_T
LCD_D22_T
LCD_D23_T

DSEL BSEL

DVI_RISEDGE_ENDVI_DESKEW_ENABLE

D0P

D2P

D1P

D0M

D2M

D1M

DESKEW_MIDDLE_BIT
DESKEW_MSB

DESKEW_LSB

F_S_ADJ

FULL_SCALE_ADJUST

DSEL
BSEL ISEL

LCD_D1_T

LCD_D16_T

DCLKM

DCLKP

LVDS_R_FB

LVDS_N1

LVDS_P1

LVDS_PC

LVDS_NC

LVDS_PC
LVDS_NC

LVDS_P0

LVDS_N0

LVDS_P2

LVDS_N2

LCD_D2_T

LCD_D9_T

LCD_D17_T
VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3 VCC3_3

VCC3_3VCC3_3
VCC3_3 VCC3_3 VCC3_3 VCC3_3

VCC3_3

VCC3_3

VCC3_3

LCD_VSYNC2
LCD_HSYNC2

LCD_DE2
LCD_PCLK_T25

LCD_CLK2

LCD_D[23:0]2

LCD_D11_T 5
LCD_D10_T 5

LCD_D5_T 5

LCD_D3_T 5

LCD_D23_T 5

LCD_D14_T 5
LCD_D13_T 5

HTPLG5

DVI_TXD2- 5
DVI_TXD2+ 5

DVI_TXD1- 5
DVI_TXD1+ 5

DVI_TXD0+ 5
DVI_TXD0- 5

I2C_GPIO038
I2C0_SCL 2,8
I2C0_SDA 2,8

DVI_TXC- 5
DVI_TXC+ 5

I2C_GPIO028

I2C_GPIO048

LVDS_NE1 4

LVDS_PE1 4

LVDS_PEC 4

LVDS_NEC 4

LVDS_PE0 4

LVDS_NE0 4

LVDS_PE2 4

LVDS_NE2 4

LCD_D4_T 5

LCD_HSYNC_T 5
LCD_D22_T 5

LCD_D6_T 5
LCD_D7_T 5

LCD_DE_T 5

LCD_D20_T 5
LCD_D18_T 5
LCD_D21_T 5
LCD_D19_T 5

LCD_D15_T 5
LCD_D12_T 5
LCD_VSYNC_T 5

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

3 9Wednesday, September 01, 2010

SB-A510    03. DVI AND LVDS TRANSMITTERS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

3 9Wednesday, September 01, 2010

SB-A510    03. DVI AND LVDS TRANSMITTERS
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

3 9Wednesday, September 01, 2010

SB-A510    03. DVI AND LVDS TRANSMITTERS

DNP

CLOCK EDGE
STRAP

LVDS TRANSMITTER STRAPS

LVDS TRANSMITTERDVI TRANSMITTER
place
termination
near CAMI
connectors

LCD TERMINATION

VREF ADJUST

ADJUSTS INPUTSIGNALS 
VOLTAGE REFERENCE, 
SEE DATASHEET FOR 
MORE INFORMATION

TO USE THIS TRANSMITTER,
LCD MODE SHOULD BE
RGB 888

TO USE THIS TRANSMITTER,
LCD MODE SHOULD BE
RGB 888 MONITOR 

SENSE

LVDS POWER
DOWN

DNP

DNP

CLOCK MODE
SELECT/I2C
DATA

IF I2C DISABLED:
DETERMINES WITH 
VREF PIN THE PIXEL
 CLOCK INPUT
(DIFFERENTIAL
 OR SINGLE-ENDED)
NOTE: see datasheet
for more information

IF I2C
ENABLED
THIS SIGNAL
IS
USED
AS I2C DATA IF I2C DISABLED:

1 = INPUT IS 24
BIT SINGLE EGDE
0 = INPUT IS 12
BIT DUAL EGDE

IF I2C ENABLED
THIS SIGNAL
IS USED
AS I2C CLOCK

INPUT MODE
SELECT/I2C
CLOCK

DNP

CLOCK EDGE 
STRAP/ HOT PLUG 
DETECT

DNP

IF I2C DISABLED:
1 = RISING EDGE CLOCK
0 = FALLING EDGE CLOCK

IF I2C ENABLED
THIS SIGNAL IS USED
FOR HOT PLUG DETECTION

IF I2C IS ENABLED 
THIS SHOULD BE TIED TO GND

IF I2C IS DISABLED 
& DESKEW ENABLED:
1 = DESKEW (DEFINED 
BY DESKEWSTRAPS) ENABLED
0 = DESKEW (DEFINED 
BY DESKEW STRAPS) DISABLED

DESKEW STRAPS ENABLE
STRAP

DNP

DVI OUTPUT EMI REDUCTION
AND ESD PROTECTION

PLACE AS CLOSE AS 
POSSIBLE TO 
DVI CONNECTOR (J2)

DNP

IF I2C IS DISABLED
& DESKEW ENABLED:
USED TO ADJUST THE SETUP &
HOLD TIMES OF THE PIXEL
DATA WITH PIXELCLOCK

NOTE: see datasheet for more
information

IF I2C IS DISABLED
& DESKEW DISABLED:
THESE ARE THREE
ADDITIONAL CONTROL INPUTS
(FOR HDCP & MORE)

DNP

DESKEW STRAPS

IF I2C IS ENABLED
THOSE CONTROL I2C 
ADDRESS LSB

ASSEMBLY OPTIONS:
THIS CONTROLS 
THE OUTPUT SIGNAL SWING 
AND SHOULD BE 
SET TO 510 OHMS

NOTE: see datasheet for 
more information

OUTPUT SWING 
ADJUST

DVI POWER
DOWN

DNP

I2C INTERFACE I2C ENABLE
STRAP

DNP

ASSEMBLY OPTIONS:
1 = I2C INTERFACE ENABLED
0 = I2C INTERFACE DISABLED

DVI TRANSMITTER STRAPS

DVI TRANSMITTER STRAPS

CM-A510 (RGB888 MODE):
LCD_D[7:0] = RED[7:0]
LCD_D[15:8] = GREEN[7:0]
LCD_D[23:16] = BLUE[7:0]

TFP410 (24BIT MODE):
PD[7:0] = BLUE[7:0]
PD[15:8] = GREEN[7:0]
PD[23:16] = RED[7:0]

CM-A510 (RGB888 MODE):
LCD_D[7:0] = RED[7:0]
LCD_D[15:8] = GREEN[7:0]
LCD_D[23:16] = BLUE[7:0]

DS90C365 (18BIT MODE):
IN[5:0] = RED[5:0]
IN[11:6] = GREEN[5:0]
IN[17:12] = BLUE[5:0]

ONLY MSB IS CONNECTED

DISCONNECTED BY DEFAULT

LVDS EMI REDUCTION

ASSEMBLY OPTIONS:
1 = RISING
EDGE
CLOCK

0 = FALLING
EDGE
CLOCK

R20
4.75K/1%

R20
4.75K/1%

L3
EMI 0603-60
L3
EMI 0603-60

R74.75K/1% R74.75K/1%

C12

100nF

C12

100nF

R19133R R19133R

R522R R522R

R19433R R19433R

L2
EMI 0603-60
L2
EMI 0603-60

4.7uF

C6

4.7uF

C6

R9
10K/1%
R9
10K/1%

L21
MURATA_DLP11SN900SL2

L21
MURATA_DLP11SN900SL2

1

4 3

2

R33
10K/1%
R33
10K/1%

C13

10nF

C13

10nF

R19733R R19733R

4.7uF

C7

4.7uF

C7

L22
MURATA_DLP11SN900SL2

L22
MURATA_DLP11SN900SL2

1

4 3

2

R20033R R20033R

C8

100nF

C8

100nF

R36 0RR36 0R

C15

100nF

C15

100nF

C16

100nF

C16

100nF

R20333R R20333R

C4

10nF

C4

10nF

C9

100nF

C9

100nF

C11

100nF

C11

100nF

R3
4.75K/1%

R3
4.75K/1%

R32
1.15K/1%
R32
1.15K/1%

L5
EMI 0603-330
L5
EMI 0603-330

R10
4.75K/1%
R10
4.75K/1%

R14 0RR14 0R

C5

100nF

C5

100nF

R31

1.15K/1%

R31

1.15K/1%

R17
4.75K/1%
R17
4.75K/1%

R19233R R19233R

U21
IP4220CZ6
U21
IP4220CZ6

IO
1

1
G

N
D

2
IO

2
3

IO
4

6
V

B
U

S
5

IO
3

4

L9

MURATA_DLP11SN900SL2

L9

MURATA_DLP11SN900SL2

1

4 3

2

R19533R R19533R

10uF

C14

10uF

C14

R25
255R/1%
R25
255R/1%

R19833R R19833R

R6

4.75K/1%

R6

4.75K/1%

R11
4.75K/1%
R11
4.75K/1%

RN1
33R/8P4R

RN1
33R/8P4R

1
2
3
4

8
7
6
5

R4 0RR4 0R

R26 1.15K/1%R26 1.15K/1%

R13
4.75K/1%
R13
4.75K/1%

R20133R R20133R

R12
4.75K/1%
R12
4.75K/1%

L23
MURATA_DLP11SN900SL2

L23
MURATA_DLP11SN900SL2

1

4 3

2

R20433R R20433R

R18
4.75K/1%
R18
4.75K/1%

R15
10K/1%
R15
10K/1%

L20
MURATA_DLP11SN900SL2

L20
MURATA_DLP11SN900SL2

1

4 3

2

L1
EMI 0603-60
L1
EMI 0603-60

R19033R R19033R

L4
EMI 0603-330
L4
EMI 0603-330

C10

100nF

C10

100nF

R37 0RR37 0R

R29
255R/1%
R29
255R/1%

R27

4.75K/1%

R27

4.75K/1%

U20
IP4220CZ6
U20
IP4220CZ6

IO
1

1
G

N
D

2
IO

2
3

IO
4

6
V

B
U

S
5

IO
3

4

R28
1.15K/1%
R28
1.15K/1%

U1

DS90C365 (18 bit LVDS transmitter)

U1

DS90C365 (18 bit LVDS transmitter)

IN0/R044

IN1/R145

IN2/R247

IN3/R348

IN4/R41

IN5/R53

IN6/G04

IN7/G16

IN8/G27

IN9/G39

IN10/G410

IN11/G512

IN12/B013

IN13/B115

IN14/B216

IN15/B318

IN16/B419

IN17/B520

IN18/HSYNC22

IN19/VSYNC23

IN20/ENA25

CLK_IN26

PD#27

OUT0_M 41
OUT0_P 40

OUT1_P 38

OUT1_M 39

OUT2_P 34

OUT2_M 35

CLK_O_P 32

CLK_O_M 33

PLL_VCC 29
PLL_GND 28

PLL_GND 30

VCC 2

VCC 8

VCC 21

R_FB14 LVDS_GND 31

LVDS_GND 36

LVDS_GND 42

LVDS_VCC 37

NC43

GND 5

GND 11

GND 17

GND 24

GND 46

R34
10K/1%
R34
10K/1%

C2

100nF

C2

100nF

R19333R R19333R

R16
4.75K/1%
R16
4.75K/1%

R19633R R19633R

RN3
33R/8P4R
RN3
33R/8P4R

1
2
3
4

8
7
6
5

U2

TFP410

U2

TFP410

PD063

PD162

PD261

PD360

PD459

PD558

PD655

PD754

PD853

PD952

PD1051

PD1150

PD1247

PD1346

PD1445

PD1544

PD1643

PD1742

PD1841

PD1940

PD2039

PD2138

PD2237

PD2336

TXD0+ 25
TXD0- 24

TXD1+ 28
TXD1- 27

TXD2+ 31
TXD2- 30

TFADJ 19

TXC+ 22

TXC- 21

DK27

DK18

IDCK+57

IDCK-56

DE2

VSYNC5

HSYNC4

BSEL/SCL15

DSEL/SDA14

HTPLG 9

NC 49
RSVD2 34

DKEN 35

VREF3

T
G

N
D

32
T

G
N

D
26

T
G

N
D

20
D

V
D

D
33

D
V

D
D

12

D
G

N
D

16

P
G

N
D

17

P
V

D
D

18
T

V
D

D
23

T
V

D
D

29

D
G

N
D

48

MSEN 11DK36

ISEL/RESET13
PD10

D
V

D
D

1

D
G

N
D

64

C3

100nF

C3

100nF

L8

MURATA_DLP11SN900SL2

L8

MURATA_DLP11SN900SL2

1

4 3

2

R19933R R19933R

R19

4.75K/1%

R19

4.75K/1%

R18933R R18933R
L7

MURATA_DLP11SN900SL2

L7

MURATA_DLP11SN900SL2

1

4 3

2

L6

MURATA_DLP11SN900SL2

L6

MURATA_DLP11SN900SL2

1

4 3

2

R8
4.75K/1%
R8
4.75K/1%

C1

100nF

C1

100nF

R30 1.15K/1%R30 1.15K/1%

R20233R R20233R

RN2
33R/8P4R
RN2
33R/8P4R

1
2
3
4

8
7
6
5



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

PCI_SLOT_IDSEL

PCI_CBE2

PCI_AD21

PCI_AD4

PCI_CBE3

PCI_AD22

PCI_AD5

PCI_AD23

PCI_AD6
PCI_AD7
PCI_AD8

PCI_AD9

PCI_AD24

PCI_AD10

PCI_AD25

PCI_AD12

PCI_AD26

PCI_AD11

PCI_AD27

PCI_AD13
PCI_AD14

PCI_AD28
PCI_AD29

PCI_AD15

PCI_AD31 PCI_AD30

PCI_AD16

PCI_AD0

PCI_AD17
PCI_AD18

PCI_CBE0

PCI_AD1

PCI_AD19

PCI_AD2

PCI_CBE1

PCI_AD3

PCI_AD20

PCI_AD20

PCI_AD21
PCI_AD22
PCI_AD23

PCI_SLOT_IDSEL

SD0_CMD/GPIO41

SD0_CLK/GPIO40

SD0_DATA1/GPIO43

SD0_DATA0/GPIO42 SD0_DATA3/GPIO45

SD0_DATA2/GPIO44

SPDIF_OUT_OPT

SPDIF_BASE_PREDIV SPDIF_BASE

AUD_ORF

AUD_OLF

CAM_CLK_T

CAM_FLD

CAM_CLK_T

12V

VCC3_3
VIO_PCI

VCC3_3

MINUSV12

VCC_5V

VCC_12V

3V3SBY

VCC_5V

VIO_PCI

3V3SBY

3V3SBY

VCC1_5

VCC_MMC

VCC_MMC

VCC_5V

VCC_5V

VIO_PCI

VCC3_3

VCC_MMC
VCC3_3

VCC3_3

VCC3_3

VIN12V

VCC_5V

VCC3_3

PCI_SLOT_nREQ64 6

PCI_SLOT_TCK6

PCI_nIRDY6
PCI_nTRDY 6

PCI_nGNT0 6

PCI_SLOT_TMS 6
PCI_SLOT_TDI 6

PCI_CLK06

PCI_nINTB6
PCI_nINTD6

PCI_nFRAME 6

PCI_nSTOP 6

PCI_nPRSNT16

PCI_M66EN6

PCI_nRST 6

PCI_SLOT_nACK646

PCI_nSERR6

PCI_SDONE/SMCLK 6

PCI_nPRSNT26

PCI_nINTA 6

PCI_nSBO/SMDATA 6
PCI_nPERR6

PCI_PARITY 6

PCI_nINTC 6

PCI_nPME 6PCI_nREQ06

PCI_nLOCK6

PCI_nDEVSEL6

PCI_SLOT_nTRST 6

PCIE_CLKP_AFTMUX16

PCIE0_nCLKREQ2,6,9

PCIE_CLKN_AFTMUX16

PCIE_TXN_AFTMUX16
PCIE_TXP_AFTMUX16

SD0_CLK/GPIO402

SD0_DATA0/GPIO422
SD0_DATA1/GPIO432
SD0_DATA2/GPIO442
SD0_DATA3/GPIO452

SD0_CMD/GPIO412

MMC_WP 8

VGA_B2
VGA_HSYNC2

VGA_VSYNC2

VGA_R2

VGA_G2

PCI_AD[31:0] 6
PCI_CBE[3:0] 6

DSUB_I2C2_SCL8

DSUB_I2C2_SDA8

SD0_CD/GPIO16 2

PCIE0_nRST_I2CGPIO06 6,8,9
I2C_GPIO07 8

PCIE_S_nWAKE6

PCIE0_LD_WLAN 8

AUDIO_GND2

AUDIO_GND2

AUDIO_OUT_R2

AUDIO_OUT_L2

AUDIO_IN_R2
AUDIO_IN_L2

PCIE_RXN_AFTMUX16
PCIE_RXP_AFTMUX16

SPDIF_AMP8

SPDIF_OUT2,8

LVDS_NE03
LVDS_PE03

LVDS_NE23
LVDS_PE23

LVDS_NE1 3
LVDS_PE1 3

LVDS_PEC 3
LVDS_NEC 3

RS232_RTS2

RS232_CTS2

RS232_TXD2

RS232_RXD2

I2C_GPIO115

I2C_GPIO125
I2C_GPIO145
I2C_GPIO155
I2C_GPIO165
I2C_GPIO175

CAM_VSYNC/GPIO34

CAM_HSYNC/GPIO33

CAM_SNR_CTL0/GPIO38
CAM_I2C_SCK

CAM_I2C_SDA

CAM_SNR_CTL1/GPIO39

CAM_CLK/GPIO352,5,9

CAM_D7/GPIO31

CAM_D6/GPIO30

CAM_D5/GPIO29

CAM_D4/GPIO28

CAM_D3/GPIO27

CAM_D2/GPIO26
CAM_D1/GPIO25

CAM_D0/GPIO24

CAM_MCLK/GPIO32

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

4 9Wednesday, September 01, 2010

SB-A510    04. CONNECTORS 1
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

4 9Wednesday, September 01, 2010

SB-A510    04. CONNECTORS 1
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

4 9Wednesday, September 01, 2010

SB-A510    04. CONNECTORS 1

Optical S/PDIF Transmitter

S/PDIF COAX Connector

DNP
S/PDIF OUT

DNP

MMC/SD SOCKET
PCI EXPRESS SLOT

VGA CONNECTOR

PCI SLOT

NOTE:
THE -12V SUPPLY IS NOT GENERATED ON BOARD.
IF YOUR PCI CARD NEEDS -12V SUPPLY, PLEASE 
PROVIDE IT EXTERNALLY TO "TP1"

AUDIO OUT/IN

DNP

LVDS HEADER

CAMERA
INPUT FPC

MAIN 12V 
POWER INPUT

RS232 CONNECTOR

Optional 
signals

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

C31

100nF

C31

100nF

U4

IP4220CZ6

U4

IP4220CZ6

IO11
GND2
IO23

IO4 6
VBUS 5

IO3 4

C158

100nF

C158

100nF

C156

100nF

C156

100nF

4.7uF

C44

4.7uF

C44

C154

100nF

C154

100nF

C143

10pF

C143

10pF

R44 100R/1%R44 100R/1%

C32

100nF

C32

100nF

key

P4mini PCI express

key

P4mini PCI express

WAKE#1 +3.3V_AUX3 2

COEX13

COEX25
GND9 4

+1.5V_1 6

CLKREQ#7 UIM_PWR 8

UIM_DATA 10

UIM_CLK 12

UIM_RESET 14

UIM_VPP 16

GND19

REFCLK-11

REFCLK+13

GND215

RSVD117

RSVD219

GND321

GND10 18

W_DISABLE# 20

PERST# 22

PER_N023

PER_P025

GND427

GND529

PET_N031

PET_P033

GND635

GND737

+3.3V_AUX139

+3,3V_AUX241

GND843

RSVD345

RSVD447

RSVD549

RSVD651

+3.3V_AUX4 24

GND11 26

+1.5V_2 28

SMB_CLK 30

SMB_DATA 32

GND12 34

USB_D- 36

USB_D+ 38

GND13 40

LED_WWAN# 42

LED_WLAN# 44

LED_WPAN# 46

+1.5V_3 48

GND14 50

+3.3V_AUX5 52

C147
100nF

C147
100nF

C169 100nFC169 100nF

C33

100nF

C33

100nF

C40

100nF

C40

100nF

C25

10nF

C25

10nF

C37

100nF

C37

100nF

R43 100R/1%R43 100R/1%

C148

100nF

C148

100nF

P9

DR10SM

P9

DR10SM

1
3
5
7

2
4
6
8

9 10

C170 100nFC170 100nF

P5

CONN_SD

P5

CONN_SD

DAT31

CMD2

VSS13

VDD4

CLK5

VSS26

DAT07
DAT18
DAT29

CD 11

GND 14

WP 12

GND 13
GND 10

GND 15

TP2TP2

FB3

120 Ohm@3.5A

FB3

120 Ohm@3.5A

R39
4.75K/1%
R39
4.75K/1%

C144

10pF

C144

10pF

C18

10nF

C18

10nF

mini PCI express latchmini PCI express latch

C39

100nF

C39

100nF

C26

100nF

C26

100nF

4.7uF

C161

4.7uF

C161

R117 22RR117 22R

C162

100nF

C162

100nF

4.7uF

C23

4.7uF

C23

R97
0R
R97
0R

C159

100nF

C159

100nF

P10P10

1
2
3
4
5

C
H

A
S

S
IS

C
H

A
S

S
IS

C
H

A
S

S
IS

C
H

A
S

S
IS

6
7
8

P3

PCI32-5V

P3

PCI32-5V

TRST# A1

+12V A2
-12VB1

TMS A3

TDI A4

+5V_5 A5

TCKB2

INTA# A6

INTC# A7

GND_1B3

+5V_6 A8

TDOB4

RESERVED3 A9

Vi/o_3 A10

+5V_1B5

RESERVED4 A11

3.3VAUX A14

+5V_2B6

RST# A15

Vi/o_4 A16

INTB#B7

GNT# A17

INTD#B8

GND_12 A18

PME# A19

PRSNT1#B9

AD[30] A20

+3.3V_7 A21

RESERVED1B10

AD[28] A22

PRSNT2#B11

AD[26] A23

GND_13 A24

RESERVED2B14

AD[24] A25

GND_2B15

IDSEL A26

+3.3V_8 A27

CLKB16

AD[22] A28

AD[20] A29

GND_3B17

GND_14 A30

REQ#B18

AD[18] A31

AD[16] A32

Vi/o_1B19

+3.3V_9 A33

FRAME# A34

AD[31]B20

GND_15 A35

AD[29]B21

TRDY# A36

GND_16 A37

GND_4B22

STOP# A38

+3.3V_10 A39

AD[27]B23

SDONE/SMCLK A40

AD[25]B24

SBO#/SMDAT A41

GND_17 A42

+3.3V_1B25

PAR A43

C/BE[3]#B26

AD[15] A44

+3.3V_11 A45

AD[23]B27

AD[13] A46

AD[11] A47

GND_5B28

GND_18 A48

AD[21]B29

AD[09] A49

C/BE[0]# A52

AD[19]B30

+3.3V_2B31

+3.3V_12 A53

AD[06] A54

AD[17]B32

AD[04] A55

C/BE[2]#B33

GND_21 A56

AD[02] A57

GND_6B34

AD[00] A58

Vi/o_5 A59

IRDY#B35

REQ64# A60

+3.3V_3B36

+5V_7 A61

+5V_8 A62

DEVSEL#B37

PCIXCAPB38

LOCK#B39

PERR#B40

+3.3V_4B41

SERR#B42

+3.3V_5B43

C/BE[1]#B44

AD[14]B45

GND_8B46

AD[12]B47

AD[10]B48

M66ENB49

AD[08]B52

AD[07]B53

+3.3V_6B54

AD[05]B55

AD[03]B56

GND_11B57

AD[01]B58

Vi/o_2B59

ACK64#B60

+5V_3B61

+5V_4B62

4.7uF

C157

4.7uF

C157

4.7uF

C29

4.7uF

C29

C155

100nF

C155

100nF

C27

100nF

C27

100nF

C149

270pF

C149

270pF

J1

AUDIO JACK 3.5mm, no sw., SMT

J1

AUDIO JACK 3.5mm, no sw., SMT

2

3

1

C38

100nF

C38

100nF

4.7uF

C30

4.7uF

C30

P22

RCA

P22

RCA

2

1

3

4

R95
86.6R/1%

R95
86.6R/1%

4.7uF

C45

4.7uF

C45

TP1TP1

J2

Power Jack 3A

J2

Power Jack 3A

1

2

3

C34

100nF

C34

100nF

C35

100nF

C35

100nF

C41

100nF

C41

100nF

U23

IP4220CZ6

U23

IP4220CZ6

IO11
GND2
IO23

IO4 6
VBUS 5

IO3 4

10

11

15 5

1

6

P7
DB15

10

11

15 5

1

6

P7
DB15

8

15

7

14

6

13

5

12

4

11

3

10

2

9

1

17
16

100uF
C141

100uF
C141

4.7uF

C22

4.7uF

C22

C145

10pF

C145

10pF

C36

100nF

C36

100nF

U6
TOTX178

U6
TOTX178 IN

3

V
C

C
2

G
N

D
1

N.C4 N.C 5

J3
AUDIO JACK 3.5mm, no sw., SMT

J3
AUDIO JACK 3.5mm, no sw., SMT

2

3

1

P25

FPC_40_05mm

P25

FPC_40_05mm

FLASH_STB1

FIELD2

I2C_SDA3

VCC_HIGH4

I2C_SCK5

nRST6

VSYNC7

nPWR_DN8

HSYNC9

GND10

GND11

PDATA912

VCC_HIGH13

PDATA814

VCC_IO15

PDATA716

VCC_IO17

PDATA618

PDATA219

PDATA520

PDATA321

PDATA422

GND23

PDATA024

GND25

PDATA126

GND27

PIX_CLK28

GND29

MCLK30

GND31

WE32

AFTR_RST33

OE34

SNPSHT35

SHTR36

NC37

NC38

NC39

NC40

C42

100nF

C42

100nF

U3

IP4220CZ6

U3

IP4220CZ6

IO11
GND2
IO23

IO4 6
VBUS 5

IO3 4

R98
0R
R98
0R

C24

10nF

C24

10nF

R46 100R/1%R46 100R/1%
R45 100R/1%R45 100R/1%

R96348R/1% R96348R/1%

C142

10pF

C142

10pF

+ C17

10uF

+ C17

10uF

C28

100nF

C28

100nF

C43

100nF

C43

100nF

C163

100nF

C163

100nF

R38
4.75K/1%
R38
4.75K/1%

C160

100nF

C160

100nF

100uF
C140

100uF
C140

C146

10pF

C146

10pF

R40 4.75K/1%R40 4.75K/1%



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

LAN0_ACT

LAN0_LINK

LAN0_CT1

LAN1_CT1

LAN1_CT2

LAN0_CT2

VCC_USB2

VCC_USB3

VCC_USB0

VCC_USB1

LCD_PWR_SRC 

DVI_DDCSCL
DVI_DDCDAT

USBP2

USBN2

USBN3

USBP3

JTAG_RTCK

MIC_BG

LA
N

1_
LI

N
K

LA
N

1_
A

C
T

_T

LA
N

1_
A

C
T

TS_Y+
TS_Y-

TS_X+
TS_X-

DVI_5V

USBP2

USBN3
USBP3

VCC_USB2

VCC_USB3

USBN2

USBN0
USBP0

USBN1
USBP1

USBN0

USBP0

USBN1

USBP1

VCC_USB1

VCC_USB0

I2C_GPIO00

I2C_GPIO01

VCC_5V

VCC_5V

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC_5V

3V3SBY

VCC3_3

3V3SBY 3V3SBY

VCC_5VVCC_12V

VCC3_3 3V3SBY

VCC_5V

VCC_5V

VCC3_3

LAN1_MDIP12
LAN1_MDIN12

LAN1_MDIP02
LAN1_MDIN02

LAN1_MDIP32
LAN1_MDIN32

LAN1_MDIP22
LAN1_MDIN22

LAN0_LED02

LAN0_LED12

LAN0_MDIP12
LAN0_MDIN12

LAN0_MDIP02
LAN0_MDIN02

LAN0_MDIP32
LAN0_MDIN32

LAN0_MDIP22
LAN0_MDIN22

USB1_CPEN2

USB2_CPEN2

USB3_CPEN2

USB1_nOVC2

USB2_nOVC2
USB3_nOVC2

TS_X+2

TS_X-2

TS_Y+2
TS_Y-2

LCD_PCLK_T23

DVI_TXD0-3
DVI_TXC+3

DVI_TXC-3

DVI_TXD2-3

DVI_TXD2+3

DVI_TXD1+3

DVI_TXD1-3
DVI_TXD0+3

SATA_RX+2
SATA_RX-2

SATA_TX-2
SATA_TX+2

HTPLG3

HDDC_SCL8
HDDC_SDA8

I2C_GPIO008
I2C_GPIO018

LCD_D10_T3
LCD_D11_T3

LCD_D18_T3

LCD_D19_T3
LCD_D20_T3

LCD_D21_T3
LCD_D22_T3

LCD_D23_T3

LCD_D15_T3

LCD_DE_T3

LCD_D14_T3

LCD_HSYNC_T3

LCD_D13_T3

LCD_VSYNC_T3

LCD_D12_T3

USB2_DN2
USB2_DP2

USB3_DN2
USB3_DP2

JTAG_nTRST 2
JTAG_TDI 2
JTAG_TMS_CPU 2

JTAG_CLK 2

JTAG_TDO 2
SYSRST_INn 2

LCDnRST8,9
LCD_D3_T3

LCD_D4_T3
LCD_D5_T3

LCD_D6_T3
LCD_D7_T3MIC_BIAS 2

UART1_RXD/GPIO622

UART2_TXD/GPIO142

UART2_RXD/GPIO152

CAM_MCLK/GPIO322,4,9

CAM_HSYNC/GPIO332,4,9

CAM_SNR_CTL1/GPIO392,4
CAM_CLK/GPIO35 2,4,9

CAM_VSYNC/GPIO34 2,4,9

CAM_SNR_CTL0/GPIO38 2,4

UART1_TXD/GPIO63 2

PMC_MISC0 2

I2S1_BCLK/SSP_SFRM/GPIO532,9

I2S1_MCLK/SSP_SCLK/GPIO542

SYSRST_OUTn 2,9

I2S1_SDI/SSP_TXD/GPIO52 2

I2S1_LRCLK/I2C2_SDA/GPIO562

I2S1_SDO/SSP_RXD/GPIO552,9

MIC_IN 2

LAN1_EESK_LED12
LAN1_EEDI_LED22

LAN1_LED02

I2C_GPIO16 8

I2C_GPIO17 8

I2C_GPIO12 8

I2C_GPIO148
I2C_GPIO158

I2C_GPIO118
I2C_GPIO137,8

CAM_I2C_SCK 2,4

CAM_I2C_SDA 2,4

CAM_D5/GPIO29 2,4
CAM_D6/GPIO30 2,4
CAM_D7/GPIO31 2,4

CAM_D0/GPIO242,4

CAM_D1/GPIO252,4

CAM_D2/GPIO262,4

CAM_D3/GPIO272,4

CAM_D4/GPIO282,4

USB1_DN2
USB1_DP2

USB0_DP2
USB0_DN2

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

5 9Thursday, October 28, 2010

SB-A510    05. CONNECTORS 2
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

5 9Thursday, October 28, 2010

SB-A510    05. CONNECTORS 2
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

5 9Thursday, October 28, 2010

SB-A510    05. CONNECTORS 2

EXACT CAP/S
Value is TBD

EXACT
CAP/S
Value is
TBD

EXACT CAP/S
Value is TBD

Add provision for USB port 0 to be a DEVICE - optional

Gbit ETH AND 2xUSB2.0 CONNECTOR

USB0 AND USB1

USB2 AND USB3 

LAN-0 (Gbit)

LAN-1 (Gbit)

EXACT
CAP/S
Value is
TBD

ASSEMBLY OPTIONS.
1 = LCD USES INTERNAL POWER SUPPLY.
0 = LCD USES EXTERNAL POWER SUPPLY.

DNP

FPC LCD CONNECTOR

HDMI (DVI) CONNECTOR

SATA CONNECTOR
AND POWER

Gbit ETH AND 2xUSB2.0 CONNECTOR MISC HEADERS

JTAG TO USE THIS TRANSMITTER,
LCD MODE SHOULD BE RGB 888

CM-A510 (RGB888 MODE):
LCD_D[7:0] = RED[7:0]
LCD_D[15:8] = GREEN[7:0]
LCD_D[23:16] = BLUE[7:0]

TOUCH SCREEN HEADER

DNP

10uF

C47

10uF

C47

R47

1K
/1

%

R47

1K
/1

% P13

FPC_40_05mm

P13

FPC_40_05mm

11

22

33

44

55

66

77

88

99

1010

1111

1212

1313

1414

1515

1616

1717

1818

1919

2020

2121

2222

2323

2424

2525

2626

2727

2828

2929

3030

3131

3232

3333

3434

3535

3636

3737

3838

3939

4040

R560R R560R

C215

100nF

C215

100nF

C52 100nFC52 100nF

C218

100nF

C218

100nF

R59
475R/1%

R59
475R/1%

L13

MURATA_DLP11SN900SL2

L13

MURATA_DLP11SN900SL2

1

4 3

2

J4

HDMI CON

J4

HDMI CON

SHELL1 20

SHELL2 21

D2+1

D2 Shield2

D2-3

D1+4

D1 Shield5

D1-6

D0+7

D0 Shield8

D0-9

CK+10

CK Shield11

CK-12

CE Remote13

NC14

DDC CLK15

DDC DATA16

GND17

+5V18

HP DET19

P17

TerminalBlk_10A

P17

TerminalBlk_10A

1

2

C51

100nF

C51

100nF

C221
100nF
C221
100nF

USB1

USB2

P11B

1Gbit_RJ45_2xUSB_COMBO_2

USB1

USB2

P11B

1Gbit_RJ45_2xUSB_COMBO_2

VCCB1

DATA -B2

DATA +B3

GNDB4

VCCB5

DATA -B6

DATA +B7

GNDB8 S
H

IE
LD

B
9

S
H

IE
LD

B
10

S
H

IE
LD

B
11

S
H

IE
LD

B
12

USB1

USB2

P15B 1Gbit_RJ45_2xUSB_COMBO_2

USB1

USB2

P15B 1Gbit_RJ45_2xUSB_COMBO_2

VCCB1

DATA -B2

DATA +B3

GNDB4

VCCB5

DATA -B6

DATA +B7

GNDB8 S
H

IE
LD

B
9

S
H

IE
LD

B
10

S
H

IE
LD

B
11

S
H

IE
LD

B
12

C222

100nF

C222

100nF

R524.75K/1% R524.75K/1%

C50

100nF

C50

100nF

GREEN

GREEN

ORANGE

1
2

6
3

5
4

8
7

RJ45 side
100BaseT
model 10103

CT-TX

CT-RX

NC
NC

NC
NC

TXP
TXN

RXP
RXN

P15A

1Gbit_RJ45_2xUSB_COMBO_2

GREEN

GREEN

ORANGE

1
2

6
3

5
4

8
7

RJ45 side
100BaseT
model 10103

CT-TX

CT-RX

NC
NC

NC
NC

TXP
TXN

RXP
RXN

P15A

1Gbit_RJ45_2xUSB_COMBO_2

MDI0+E2

MDI0-E3

MDI1+E4

MDI1-E5

CT-DCE1

CT-ACE10

LED1 CE12

LED1 AE11

LED2 1E13

LED2 2E14

S
H

IE
LD

E
15

S
H

IE
LD

E
16

S
H

IE
LD

E
17

S
H

IE
LD

E
18

MDI2+E6

MDI2-E7

MDI3+E8

MDI3-E9

P16

DR20

P16

DR20

1
3
5
7

2
4
6
8

910
11
13
15
17
19

12
14
16
18
20

U22

IP4220CZ6

U22

IP4220CZ6

IO11
GND2
IO23

IO4 6
VBUS 5

IO3 4

R50
475R/1%
R50
475R/1%

C225

100nF

C225

100nF

C223

100nF

C223

100nF

L12

MURATA_DLP11SN900SL2

L12

MURATA_DLP11SN900SL2

1

4 3

2

C46

100nF

C46

100nF

D1
BAT54A

D1
BAT54A

1
3

2

P18

SATA_CONN

P18

SATA_CONN

11

22

33

44

55

66

77

C216

100nF

C216

100nF

L10

MURATA_DLP11SN900SL2

L10

MURATA_DLP11SN900SL2

1

4 3

2

R534.75K/1% R534.75K/1%

C219

100nF

C219

100nF

F1F1

R580R R580R

C48

100nF

C48

100nF

U7

RYC8220-1M

U7

RYC8220-1M

EN_A1

FLG_A2

FLG_B3

EN_B4 OUT_B 5
GND 6
VCC 7

OUT_A 8

P19

TerminalBlk_10A

P19

TerminalBlk_10A

1

2

R49

1K
/1

%

R49

1K
/1

%

R57

475R/1%

R57

475R/1%

P12

DR10SM

P12

DR10SM

1
3
5
7

2
4
6
8

9 10

C220

1uF

C220

1uF

GREEN

GREEN

ORANGE

1
2

6
3

5
4

8
7

RJ45 side
100BaseT
model 10103

CT-TX

CT-RX

NC
NC

NC
NC

TXP
TXN

RXP
RXN

P11A

1Gbit_RJ45_2xUSB_COMBO_2

GREEN

GREEN

ORANGE

1
2

6
3

5
4

8
7

RJ45 side
100BaseT
model 10103

CT-TX

CT-RX

NC
NC

NC
NC

TXP
TXN

RXP
RXN

P11A

1Gbit_RJ45_2xUSB_COMBO_2

MDI0+E2

MDI0-E3

MDI1+E4

MDI1-E5

CT-DCE1

CT-ACE10

LED1 CE12

LED1 AE11

LED2 1E13

LED2 2E14

S
H

IE
LD

E
15

S
H

IE
LD

E
16

S
H

IE
LD

E
17

S
H

IE
LD

E
18

MDI2+E6

MDI2-E7

MDI3+E8

MDI3-E9

L11

MURATA_DLP11SN900SL2

L11

MURATA_DLP11SN900SL2

1

4 3

2

R183
10.5K/1%
R183
10.5K/1%

R1004.75K/1% R1004.75K/1%

R48 4.75K/1%R48 4.75K/1%

U19
IP4220CZ6
U19
IP4220CZ6

IO
1

1
G

N
D

2
IO

2
3

IO
4

6
V

B
U

S
5

IO
3

4

R54 0RR54 0R

U8

RYC8220-1M

U8

RYC8220-1M

EN_A1

FLG_A2

FLG_B3

EN_B4 OUT_B 5
GND 6
VCC 7

OUT_A 8

R51
475R/1%
R51
475R/1%

RN8 4.7K/8P4RRN8 4.7K/8P4R
1
2
3
4

8
7
6
5

10uF

C49

10uF

C49

R55 4.75K/1%R55 4.75K/1%

P21
DR24

P21
DR24

1
3
5
7

2
4
6
8

9 10
11
13
15
17
19
21
23

12
14
16
18
20
22
24

C224

100nF

C224

100nF

U5
IP4220CZ6
U5
IP4220CZ6

IO
1

1
G

N
D

2
IO

2
3

IO
4

6
V

B
U

S
5

IO
3

4

C217

100nF

C217

100nF

P14
DR24

P14
DR24

1
3
5
7

2
4
6
8

9 10
11
13
15
17
19
21
23

12
14
16
18
20
22
24



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

PCIE_CLKP_AFTMUX0
PCIE_CLKN_AFTMUX0

PCIE_TXP_AFTMUX0
PCIE_TXN_AFTMUX0

PCIE_RXP_AFTMUX0
PCIE_RXN_AFTMUX0

PCIE_RXP0_FLT
PCIE_RXN0_FLT

PCI_AD0
PCI_AD1
PCI_AD2
PCI_AD3
PCI_AD4
PCI_AD5
PCI_AD6
PCI_AD7
PCI_AD8
PCI_AD9
PCI_AD10
PCI_AD11
PCI_AD12
PCI_AD13
PCI_AD14
PCI_AD15
PCI_AD16
PCI_AD17
PCI_AD18
PCI_AD19
PCI_AD20
PCI_AD21
PCI_AD22
PCI_AD23
PCI_AD24
PCI_AD25
PCI_AD26
PCI_AD27
PCI_AD28
PCI_AD29
PCI_AD30
PCI_AD31

PCI_CBE0
PCI_CBE1
PCI_CBE2
PCI_CBE3

PCI_BRIDGE_nIDSEL

PCI_nREQ1
PCI_nREQ2
PCI_nREQ3

PCI_nGNT1
PCI_nGNT2
PCI_nGNT3

PCI_CLK0_T

PCI_CLKIN

PCI_TM0
PCI_TM1
PCI_MSK_IN
PCI_REVERSB

PCI_TM0
PCI_TM1
PCI_MSK_IN
PCI_REVERSB
PCI_BRIDGE_nTRST

PCI_BRIDGE_nTRST

PCI_SMBDAT
PCI_SMBCLK

PCIE_VDDP

PCIE_VDDC

PCIE_VDDA

PCI_CLKIN

PCIE_MUX_SEL

PCIE_CLKP_AFTMUX0
PCIE_CLKN_AFTMUX0
PCIE_TXP_AFTMUX0
PCIE_TXN_AFTMUX0

PCIE_RXP_AFTMUX0
PCIE_RXN_AFTMUX0

PCIE_RX_N
PCIE_RX_P

PCIE_CLK_P
PCIE_CLK_N

PCIE_TX_P
PCIE_TX_N

PCIE_LED

PCIE_MUX_SEL

PCI_BRIDGE_RESET

PCIE_CLK_P
PCIE_CLK_N
PCIE_TX_P
PCIE_TX_N

PCIE_RX_N
PCIE_RX_P

PCI_BRIDGE_nIDSELPCI_nREQ0
PCI_nGNT0

PCI_nGNT2

PCI_nREQ1
PCI_nREQ2
PCI_nREQ3

PCI_nPME

SMCLK_T
SMDATA_T

SMCLK_T
SMDATA_T

PCI_nRST

PCIE_SEL

PCI_nPME

PCI_nGNT3

PCI_nGNT1

PCI_SMBDAT
PCI_SMBCLK

VIO_PCI

1.5SBY

1.0SBY

VIO_PCI

VIO_PCI

VIO_PCI

VCC1_8

VCC1_8

VCC_5VVCC3_3

VIO_PCI

VIO_PCI

3V3SBY

VCC3_3

3V3SBY

3V3SBY

5VSBY 3V3SBY

VCC1_0

1.0SBY

VIO_PCI

3V3SBY

PCI_AD[31:0] 4

PCI_CBE[3:0] 4
PCI_PARITY4

PCI_nFRAME4

PCI_nFRAME4
PCI_nTRDY4
PCI_nIRDY4

PCI_nTRDY4
PCI_nIRDY4

PCI_nSTOP4PCI_nSTOP4
PCI_nDEVSEL4

PCI_nDEVSEL4

PCI_nLOCK4

PCI_nLOCK4

PCI_nPERR4

PCI_nPERR4

PCI_nSERR4

PCI_nSERR4

PCI_nREQ04

PCI_nGNT04

PCI_CLK04

PCI_M66EN4

PCI_nINTA4
PCI_nINTB4
PCI_nINTC4
PCI_nINTD4

PCI_nINTA4
PCI_nINTB4
PCI_nINTC4
PCI_nINTD4

PCI_nRST4

PCI_nPME4

PCI_SLOT_nACK644
PCI_SLOT_nREQ644

PCI_SLOT_nTRST4
PCI_SLOT_TCK4

PCI_SLOT_TMS4
PCI_SLOT_TDI4

PCIE0_nCLKREQ2,4,9PCI_M66EN4
PCI_nPRSNT24
PCI_nPRSNT14

PCIE_CLKP_AFTMUX1 4
PCIE_CLKN_AFTMUX1 4

PCIE_TXP_AFTMUX1 4
PCIE_TXN_AFTMUX1 4

PCIE_RXP_AFTMUX1 4
PCIE_RXN_AFTMUX1 4

PCIE0_nRST_I2CGPIO06 4,8,9

PCIE0_CLK_N2
PCIE0_CLK_P2

PCIE0_TX_P2
PCIE0_TX_N2
PCIE0_RX_P2
PCIE0_RX_N2

PCIE_P_CLK_N 9
PCIE_P_CLK_P 9

PCIE_P_TX_P 9
PCIE_P_TX_N 9
PCIE_P_RX_P 9
PCIE_P_RX_N 9

PCI_SDONE/SMCLK4
PCI_nSBO/SMDATA4

PCIE_P_nWAKE9

PCIE_S_nWAKE4

PCIE0_nWAKE 8

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

6 9Thursday, October 07, 2010

SB-A510    06. PCI BRIDGE AND PCI-E MUX
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

6 9Thursday, October 07, 2010

SB-A510    06. PCI BRIDGE AND PCI-E MUX
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

6 9Thursday, October 07, 2010

SB-A510    06. PCI BRIDGE AND PCI-E MUX

PCI-E to PCI BRIDGE INTERFACES

1-2: A->B (PCIe x1) - DEFAULT
2-3: A->C (PCI Bridge)

PCI Bridge selected

PCI-E slot selected

1-2: 5V
2-3: 3.3V

FORCE 33MHz

PLACE WITHIN
0.25 INCHES
OF PCI SLOT

PCI-E LINK INDICATORS

PCI-E LINK
MUX

PCI-E PRODUCTION OPTION

PCI OPERATING
VOLTAGE
SELECTOR

PCI-E to PCI BRIDGE POWER

ASSEMBLE ONLY 
WITH PROD 
OPTION

DNP

DNP

DNP

DNP DNP
PCIe WAKE SOURCE

DNP

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

ASSEMBLE ONLY 
WITHOUT PROD 
OPTION

R60 4.75K/1%R60 4.75K/1%

E4E4

1 3

2

C59

100nF

C59

100nF

4.7uF

C57

4.7uF

C57

C91 100nFC91 100nF

RN12
4.7K/10P8R
RN12
4.7K/10P8R

1
2
3
4

5

7
6

10
9
8

C58

100nF

C58

100nF

4.7uF

C78

4.7uF

C78

C66

100nF

C66

100nF

R
163

0R

R
163

0R

4.7uF

C83

4.7uF

C83

R
65

4.75K
/1%

R
65

4.75K
/1%

C70

100nF

C70

100nF

R
161

0R

R
161

0R

R
168

0R

R
168

0R

R113 4.75K/1%R113 4.75K/1%

C80

100nF

C80

100nF

C64

100nF

C64

100nF

C88

10nF

C88

10nF

R70 0RR70 0R

R
166

0R

R
166

0R

R
159

0R

R
159

0R

R68 22RR68 22R

C86

100nF

C86

100nF

R61

10.5K/1%

R61

10.5K/1%

RN11
4.7K/10P8R
RN11
4.7K/10P8R

1
2
3
4

5

7
6

10
9
8

R
164

0R

R
164

0R

R107 4.75K/1%R107 4.75K/1%

C54

100nF

C54

100nF

C84

10uF ,6.3V,0603

C84

10uF ,6.3V,0603

R109 0RR109 0R

R69 4.75K/1%R69 4.75K/1%

C81

100nF

C81

100nF

C73

100nF

C73

100nF 4.7uF

C77

4.7uF

C77

R67

300R/1%

R67

300R/1%

C69

100nF

C69

100nF

Q1
NDS335N
Q1
NDS335N1

3
2

C85

100nF

C85

100nF

C76

100nF

C76

100nF

R106 4.75K/1%R106 4.75K/1%

4.7uF

C71

4.7uF

C71

L14
EMI 0603-60
L14
EMI 0603-60

U9B

PI7C9X111GP

U9B

PI7C9X111GP

VSS1128

VSS2117

VSS3106

VSS497

VSS588

VSS678

VSS767

VSS857

VSS946

VSS1034

VSS1125

VSS1222

VSS1319

VSS1416

VSS1510

VSS166

VTT12

VDD1 122

VDD2 111

VDD3 101

VDD4 91

VDD5 81

VDD6 70

VDD7 60

VDD8 53

VDD9 33

VDDA1 21

VDDA2 20

VDDC1 112

VDDC2 94

VDDC3 75

VDDC4 65

VDDC5 45

VDDP1 24

VDDP2 23

VDDP3 11

VAUX2

VDDAUX15

VDDCAUX5

VDDA3 8

CenterPad129

R186 0RR186 0R

E3E3

C61

100nF

C61

100nF

R115 4.75K/1%R115 4.75K/1%

C60

100nF

C60

100nF

C56

100nF

C56

100nF

C90 100nFC90 100nF

R
169

0R

R
169

0R

C62

100nF

C62

100nF

R
66

4.75K
/1%

R
66

4.75K
/1%

C67

100nF

C67

100nF

C63

100nF

C63

100nF

R
162

0R

R
162

0R

R
64

4.75K
/1%

R
64

4.75K
/1%

R110 4.75K/1%R110 4.75K/1%

R
160

0R

R
160

0R

C87

10nF

C87

10nF

C68

100nF

C68

100nF

R
167

0R

R
167

0R

R111 4.75K/1%R111 4.75K/1%

C65

100nF

C65

100nF

R62
4.75K/1%
R62
4.75K/1%

E2E2

13

2

R
165

0R

R
165

0R

R187 0RR187 0R

RN9
4.7K/10P8R

RN9
4.7K/10P8R

1
2
3
4

5

7
6

10
9
8

C53

100nF

C53

100nF

C89

10nF

C89

10nF

L16
EMI 0603-60
L16
EMI 0603-60

DS1

LED-GREEN

DS1

LED-GREEN

C72

100nF

C72

100nF

C55

100nF

C55

100nF

Q2
NDS335N
Q2
NDS335N1

3
2

R114 4.75K/1%R114 4.75K/1%

R63
300R/1%
R63
300R/1%

R108 0RR108 0R

DS2

LED-GREEN

DS2

LED-GREEN

C79

100nF

C79

100nF

C74

100nF

C74

100nF

C75

100nF

C75

100nF

R188 0RR188 0R

C82

100nF

C82

100nF

U10

PCIE MUX/DEMUX - PI2PCIE2412

U10

PCIE MUX/DEMUX - PI2PCIE2412

GND1

A0+2

A0-3

GND4

VDD5

A1+6

A1-7

VDD8

SEL9

GND10

A2+11

A2-12

VDD13

GND14

A3+15

A3-16

GND17

V
D

D
18

G
N

D
19

V
D

D
20

G
N

D
21

C3- 22
C3+ 23
C2- 24
C2+ 25
B3- 26
B3+ 27
B2- 28
B2+ 29
VDD 30
C1- 31
C1+ 32
C0- 33
C0+ 34
B1- 35
B1+ 36
B0- 37
B0+ 38

G
N

D
39

G
N

D
41

V
D

D
40

V
D

D
42

E
P

A
D

43

C150

100nF

C150

100nF
L24
EMI 0603-60
L24
EMI 0603-60

L15
EMI 0603-60
L15
EMI 0603-60 R

158

0R

R
158

0R

RN13
4.7K/10P8R
RN13
4.7K/10P8R

1
2
3
4

5

7
6

10
9
8

U9A

PI7C9X111GP

U9A

PI7C9X111GP

AD0 68

AD1 69

AD2 71

AD3 72

AD4 73

AD5 74

AD6 76

AD7 77

AD8 80

AD9 82

AD10 83

AD11 84

AD12 85

AD13 86

AD14 87

AD15 89

AD16 104

AD17 105

AD18 107

AD19 108

AD20 109

AD21 110

AD22 113

AD23 114

AD24 116

AD25 118

AD26 119

AD27 120

AD28 121

AD29 124

AD30 123

AD31 125

CLKIN48

REQ3_L40

REQ1_L37
REQ0_L35

REQ2_L38

GNT0_L41

GNT2_L43

GNT3_L44

GNT1_L42

GPIO055

GPIO154

GPIO251

GPIO350

CLKOUT058

CLKOUT159

CLKOUT256

CLKOUT352

INTA_L39

INTB_L47

INTC_L62

INTD_L61

PERST_L 36

RESET_L49

SERR_L63

PAR93
PERR_L92

LOCK_L96

STOP_L95

DEVSEL_L98

TRDY_L100

IRDY_L99

FRAME_L66

PME_L1

REFCLKP 7

REFCLKN 9

REVRSB 31
MSK_IN 126

IDSEL64

TP 14

TN 13

CBE0 79

CBE1 90

CBE2 102

CBE3 115

SMBCLK3

SMBDAT4

TM0 127

TM1 26TDI29
TDO32
TMS27
TCK28
TRST_L30

RP 17

RN 18

M66EN103



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

5VSSS

5VSBT

5VCMP 5VRC
5VSBYFB

3V3SSS

3V3SBT

3V3CMP 3V3RC
3V3SBYFB
3V3SW

5VSW

1V8SBYFB

18PGD

10PGD

1V0SBYFB

nSLEEP

GATE_VCC_5V
SLEEP_VCC_5V

nSLEEP

GATE_VCC_3V
SLEEP_VCC_3V

R
T

C
P

W

nSLEEP_S

VIN_LD

5V_LD

5VA_LD

33V_LD

MMC_LD

33VA_LD

nSLEEPnSLEEP_S

nSLEEP_SnSLEEP

1V5SBYFB

15PGD

nSLEEP

GATE_VCC_V12
SLEEP_VCC_V12

VIN12V 5VSBY

VIN12V 3V3SBY

VCC3_3 VCC_MMC

5VSBY

VCC_MMCVCC3_3

VCC1_83V3SBY

3V3SBY 1.0SBY
VCC3_3

3V3SBY

VCC_RTC

VCC_5V

5VSBY

VIN12VVCC3_3

VCC_MMC

3V3SBY

VCC1_51.5SBY

3V3SBY

VCC1_01.0SBY

3V3SBY
5VSBY

VCC3_3

VCC3_3

1.5SBY3V3SBY
VCC_12VVIN12V

5VSBY

VCC_5V

nSLEEP_PER2

I2C_GPIO135,8

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

7 9Wednesday, September 29, 2010

SB-A510    07. POWER
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

7 9Wednesday, September 29, 2010

SB-A510    07. POWER
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

7 9Wednesday, September 29, 2010

SB-A510    07. POWER

up to 3Amps output, 80% eff at 3A 3.3V

Vout = 0.92*(1+R1/R2)

up to 3Amps output, 80% eff at 3A 3.3V

Vout = 0.92*(1+R1/R2)

MMC FET BYPASS

MMC POWER

3.3V SUPPLY (ALWAYS ON)

5V SUPPLY (ALWAYS ON)

up to 0.5Amps output.
Vout = 0.8(1+R1/R2)

1.8V SUPPLY (ALWAYS ON)

Vout = 0.8(1+R1/R2)
up to 0.5Amps output.

1.0V SUPPLY (ALWAYS ON)

5V SUPPLY
N/A IN SLEEP

P-MOS CHARACTERISTICS:
MAX CURRENT = 3.7 A
MAX CHANNEL RESISTANCE @ 3.7A = 0.0375 OHM
WORST CASE VCC_12V VOLTAGE = 5-3.7*0.0375 = 4.86V

3.3V SUPPLY - N/A IN SLEEP

P-MOS CHARACTERISTICS:
MAX CURRENT = 3.7 A
MAX CHANNEL RESISTANCE @ 3.7A = 0.065 OHM
WORST CASE VCC3_3 VOLTAGE = 3.3-3.7*0.065 = 3.06V

1.5V SUPPLY
N/A IN SLEEP

MAIN POWER LEDS

RTC POWER

DNP

DNP

DNP

DNP

SLEEP DISABLE
PROVISION1.0V SUPPLY

N/A IN SLEEP
SLEEP
SHIFTER

DNP

ALWAYS ENABLED BY INTERNAL PULL UP ON EN PIN

ALWAYS ENABLED BY INTERNAL PULL UP ON EN PIN

DECOUPLING

up to 0.5Amps output.
Vout = 0.8(1+R1/R2)

12V SUPPLY - N/A IN SLEEP

P-MOS CHARACTERISTICS:
MAX CURRENT = 3.7 A
MAX CHANNEL RESISTANCE @ 3.7A = 0.065 OHM
WORST CASE VCC_12V VOLTAGE = 12-3.7*0.065 = 11.76V

1.5V SUPPLY (ALWAYS ON)

10uF

C94

10uF

C94

R74
4.75K/1%
R74
4.75K/1%

Q33NDS335N Q33NDS335N

1

3 2

C111

100nF

C111

100nF R87 100KR87 100K

C174

100nF

C174

100nF

C181

100nF

C181

100nF

R81
2.49K/1%
R81
2.49K/1%

U12

RTL9186A

U12

RTL9186A

Vin1

Vin2

EN4

GND5
ADJ 6

EPAD 9

PGOOD 3

Vout 7

Vout 8

C208

100nF

C208

100nF

R174 56R/1%R174 56R/1%

C171

100nF

C171

100nF

C167

100nF

C167

100nF

C165

100nF

C165

100nF

C99

2.2nF

C99

2.2nF

R94
4.75K/1%
R94
4.75K/1%

R92
49.9K/1%
R92
49.9K/1%

10uF
 ,25V

 ,X
7R

C96

10uF
 ,25V

 ,X
7R

C96 R79 100KR79 100K

C168

100nF

C168

100nF

10uF

C110

10uF

C110

C97

1uF

C97

1uF

C166

100nF

C166

100nF

Q9 NDS335NQ9 NDS335N

1

32

Q7
P-MOS, 1.5A, 8V

Q7
P-MOS, 1.5A, 8V

1

2 3
U15

RTL9186A

U15

RTL9186A

Vin1

Vin2

EN4

GND5
ADJ 6

EPAD 9

PGOOD 3

Vout 7

Vout 8

U14

RTL9186A

U14

RTL9186A

Vin1

Vin2

EN4

GND5
ADJ 6

EPAD 9

PGOOD 3

Vout 7

Vout 8

100uF
C100
100uF
C100

C213

100nF

C213

100nF

R80

6.19k 1%

R80

6.19k 1%

C211

100nF

C211

100nF

C178

100nF

C178

100nF

C92
10nF
C92
10nF

L18

4.7uH , 3.4A

L18

4.7uH , 3.4A

L17

4.7uH , 3.4A

L17

4.7uH , 3.4A

D3
MBRS340
D3
MBRS340

Q4 NDS335NQ4 NDS335N

1

32

R88
12.4K/1%
R88
12.4K/1%

DS18
LED-GREEN

DS18
LED-GREEN

C206

100nF

C206

100nF

C93 2.2nFC93 2.2nF

R178 1.74K/1%R178 1.74K/1%

NDS332P

Q10

NDS332P

Q10

2

1

3

C207

100nF

C207

100nF

DS5
LED-GREEN

DS5
LED-GREEN

10uF

C107

10uF

C107

R177 150R/1%R177 150R/1%

U11

RT8272

U11

RT8272

BOOT 1

Vin2 SW 3

GND4

FB 5

COMP 6

EN7

SS8

PAD 9

NDS332P

Q3

NDS332P

Q3

2

1

3

R91 1K/1%R91 1K/1%

C210

100nF

C210

100nF

E5E5

1
2

R89
4.75K/1%
R89
4.75K/1%

C176

100nF

C176

100nF

DS3
LED-GREEN

DS3
LED-GREEN

R83

Res. 40.2k  1%

R83

Res. 40.2k  1%

R176 150R/1%R176 150R/1%

C175

100nF

C175

100nF

D4
MBRS340
D4
MBRS340

NDS332P

Q5

NDS332P

Q5

2

1

3

R71 100KR71 100K
C102 2.2nFC102 2.2nF

C173

100nF

C173

100nF

R72
10.5K/1%

R72
10.5K/1%

C101
10nF
C101
10nF

C180

100nF

C180

100nF

10uF
 ,25V

 ,X
7R

C103

10uF
 ,25V

 ,X
7R

C103

R182 0RR182 0R

C139

100nF

C139

100nF

C177

100nF

C177

100nF

GND

VCC

U25
7SZ07

GND

VCC

U25
7SZ07

42

3
5

R173 56R/1%R173 56R/1%

R93 0RR93 0R

C95

100nF

C95

100nF

DS17
LED-GREEN

DS17
LED-GREEN

R1400R R1400R

C214

100nF

C214

100nF

C209

100nF

C209

100nF

C212

100nF

C212

100nF

Q32NDS335N Q32NDS335N

1

3 2

R75

Res. 40.2k  1%

R75

Res. 40.2k  1%

BT1

BATT 2032

BT1

BATT 2032

10uF

C113

10uF

C113

10uF

C114

10uF

C114

R84
2.37K/1%

R84
2.37K/1%

10uF

C98

10uF

C98
R73
43.2K/1%
R73
43.2K/1%

DS19
LED-GREEN

DS19
LED-GREEN

R82
4.75K/1%
R82
4.75K/1%

R78
49.9K/1%
R78
49.9K/1%

10uF

C106

10uF

C106

100uF
C109
100uF
C109

R175 56R/1%R175 56R/1%

C104

100nF

C104

100nF

C179

100nF

C179

100nF

R86
2K/1%
R86
2K/1%

R85
1K/1%

R85
1K/1%

DS4
LED-GREEN

DS4
LED-GREEN

C112

1uF

C112

1uF

U13

RT8272

U13

RT8272

BOOT 1

Vin2 SW 3

GND4

FB 5

COMP 6

EN7

SS8

PAD 9

NDS332P

Q8

NDS332P

Q8

2

1

3

R76 4.75K/1%R76 4.75K/1%

R137
4.75K/1%
R137
4.75K/1%

+

-
BH1

BATT_HOLDER_2032
+

-
BH1

BATT_HOLDER_2032

M
IN

U
S

P
LU

S

C172

100nF

C172

100nF

R90
4.75K/1%
R90
4.75K/1%

C105

1uF

C105

1uF

C108

2.2nF

C108

2.2nF

Q6 NDS335NQ6 NDS335N

1

32R77
2.37K/1%

R77
2.37K/1%



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

nWAKE_SRC0 nWAKE_SRC1

nWAKE_SRC0
nWAKE_SRC1

SPDIF_INV_R SPDIF_AM3

SPDIF_AM1

SPDIF_AM5

S
P

D
IF

_A
M

2
S

P
D

IF
_A

M
4

S
P

D
IF

_I
N

V

L2PWR L2A

BOOT_SCR0PU

I2C_GPIO06

I2C_GPIO10

BUTTON_nWAKE

I2C_GPIO05

I2C_GPIO_ADDR1
I2C_GPIO_ADDR2 I2C_GPIO10

I2C_GPIO05
I2C_GPIO06

I2C_GPIO_ADDR0

I2C2_SDA
I2C2_SCL

3V3SBY

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3

VCC3_3 VCC_5V

3V3SBY

VCC3_3

VCC3_3

VCC3_3

PCIE0_nWAKE6

PMU_EXT_WU0 2

SPDIF_AMP 4

SPDIF_OUT2,4

PCIE0_LD_WLAN4

I2C0_SCL2,3

I2C0_SDA2,3

HDDC_SCL 5

HDDC_SDA 5

I2C2_SCL2

I2C2_SDA2 DSUB_I2C2_SDA 4

DSUB_I2C2_SCL 4

FLASH_nWP2

nRST_IN2

BOOT_SCR02,9

LCDnRST 5,9
PCIE0_nRST_I2CGPIO06 4,6,9

MMC_WP 4

I2C_GPIO11 5
I2C_GPIO12 5
I2C_GPIO13 5,7
I2C_GPIO14 5
I2C_GPIO15 5
I2C_GPIO16 5
I2C_GPIO17 5

I2C_GPIO00 5
I2C_GPIO01 5
I2C_GPIO02 3
I2C_GPIO03 3
I2C_GPIO04 3

I2C_GPIO07 4

GPIO182

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

8 9Wednesday, September 29, 2010

SB-A510    08. MISC
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

8 9Wednesday, September 29, 2010

SB-A510    08. MISC
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

8 9Wednesday, September 29, 2010

SB-A510    08. MISC

WAKE-UP LOGIC

nWAKE_SRC1 and nWAKE_SRC0 = PMU_EXT_WU0
PMU_EXT_WU0 - ACTIVE LOW WAKE REQUEST

SPDIF OPTIONAL AMP
NOT ASSEMBLED BY DEFAULT

DNP DNP

DNP

DNP

DNP

DNP

DNP

DNP

DNP

DNP

PCI-E WLAN LED

DDC LEVEL SHIFTERS

FLASH WRITE PROTECT
ASSEMBLE JUMER TO 
WRITE PROTECT 
THE MODULE SPI FLASH

SYSTEM RESET BUTTON

BOOT FROM S-ATA 
JUMPER/BUTTON

PERIPHERAL RESET STRAPS

OPTIONAL GPIO FUNCTIONALITY

MECHANICAL
HOLES

CM-A510 HOLES

SATA HOLES

MECHANICAL PARTS

CM-A510 SCREWS CM-A510 SPACERS

S-ATA SCREWS

SB-A510 STANDOFFS

STANDOFF AND S-ATA NUTS

JUMPERS

PMU_EXT_WU0nWAKE_SRC1nWAKE_SRC0

LL

L

L

H

H

H H

L

L

H

L

OUTPUTINPUTINPUT

I2C GPIO EXTENDER

DNP

R
24

4.
75

K
/1

%
R

24
4.

75
K

/1
%

R1050R R1050R

STANDOFF11
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

STANDOFF11
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

H12

HOLE M2

H12

HOLE M2

R99
0R
R99
0R

RN15
4.7K/8P4R
RN15
4.7K/8P4R

1 2 3 4

8 7 6 5

U27E

74HC04

U27E

74HC04

11

7

10

14

NUT10
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT10
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

SW1SW1

3 4
21

JP9

Jumper, black, 100mil

JP9

Jumper, black, 100mil

H16

HOLE M2

H16

HOLE M2
3.5mm M2

PAN HEAD
SCREW4
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD
SCREW4
SCREW, M2, 3.5mm, PAN HEAD

SW3SW3

3 4
21

R128

1.15K/1%

R128

1.15K/1%

3.5mm M2

PAN HEAD

SCREW7
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

3.5mm M2

PAN HEAD

SCREW7
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

STANDOFF12
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

STANDOFF12
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

STANDOFF9
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

STANDOFF9
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

U27F

74HC04

U27F

74HC04

13

7

12

14

U27A

74HC04

U27A

74HC04

1

7

2

14

R1470R R1470R

C151

100nF

C151

100nF

H9

HOLE M2

H9

HOLE M2

NUT6
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT6
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

RN14
4.7K/8P4R
RN14
4.7K/8P4R

1 2 3 4

8 7 6 5

R1020R R1020R

R142
4.75K/1%
R142
4.75K/1%

R126 0RR126 0R

NUT9
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT9
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

R135 0RR135 0R

H11

HOLE M2

H11

HOLE M2

H10

HOLE M2

H10

HOLE M2

NUT11
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT11
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

JP10

Jumper, black, 100mil

JP10

Jumper, black, 100mil

Q22 NDS335NQ22 NDS335N

1

32

H13

HOLE M2

H13

HOLE M2

3.5mm M2

PAN HEAD

SCREW8
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

3.5mm M2

PAN HEAD

SCREW8
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

H7

HOLE M2

H7

HOLE M2

NUT12
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT12
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

Q30
P-MOS, 1.5A, 8V

Q30
P-MOS, 1.5A, 8V

1

2 3

R132 4.75K/1%R132 4.75K/1%

R
41

4.
75

K
/1

%
R

41
4.

75
K

/1
%

C152

100nF

C152

100nF

U27B

74HC04

U27B

74HC04

3

7

4

14

H8

HOLE M2

H8

HOLE M2
NUT13

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width
NUT13

Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT7
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT7
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

E6E6

R1480R R1480R

JP14

Jumper, black, 100mil

JP14

Jumper, black, 100mil

R1040R R1040R

SATAHOLES1SATAHOLES1
1

23

4

R
42

4.
75

K
/1

%
R

42
4.

75
K

/1
%

NUT14
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT14
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

Q24 NDS335NQ24 NDS335N

1

32

R141

100R/1%

R141

100R/1%

JP11

Jumper, black, 100mil

JP11

Jumper, black, 100mil

R
23

4.
75

K
/1

%
R

23
4.

75
K

/1
%

STANDOFF7
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

STANDOFF7
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

R144
4.75K/1%
R144
4.75K/1%

R130 4.75K/1%R130 4.75K/1%

C164

100nF

C164

100nF

H14

HOLE M2

H14

HOLE M2

STANDOFF8
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

STANDOFF8
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

SP1

SPACER_HEX_M2X4MM

SP1

SPACER_HEX_M2X4MM

1

R
35

4.
75

K
/1

%
R

35
4.

75
K

/1
%

U27C

74HC04

U27C

74HC04

5

7

6

14

U16

NC7SZ57

U16

NC7SZ57

I11

GND2

I03

I2 6

VCC 5

Y 4

C153

100nF

C153

100nF

R1010R R1010R

NUT8
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT8
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

JP7

Jumper, black, 100mil

JP7

Jumper, black, 100mil

U24

PCA9555

U24

PCA9555

I/O1.0 10

I/O1.1 11

I/O1.2 12

I/O1.3 13

I/O1.4 14

I/O1.5 15

I/O1.6 16

I/O1.7 17

I/O0.0 1

I/O0.1 2

I/O0.2 3

I/O0.3 4

I/O0.4 5

I/O0.5 6

I/O0.6 7

I/O0.7 8A018

A123

A224

VDD21

VSS9

SCL19

SDA20

INT22

SP3

SPACER_HEX_M2X4MM

SP3

SPACER_HEX_M2X4MM

1

Q26 NDS335NQ26 NDS335N

1

32

SP4

SPACER_HEX_M2X4MM

SP4

SPACER_HEX_M2X4MM

1

JP12

Jumper, black, 100mil

JP12

Jumper, black, 100mil

U27D

74HC04

U27D

74HC04

9

7

8

14

R
22

4.
75

K
/1

%
R

22
4.

75
K

/1
%

E8E8

SP2

SPACER_HEX_M2X4MM

SP2

SPACER_HEX_M2X4MM

1

R1030R R1030R

H15

HOLE M2

H15

HOLE M2
SW2SW2

3 4
21

C115

100nF

C115

100nF

3.5mm M2

PAN HEAD
SCREW1
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD
SCREW1
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD
SCREW3
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD
SCREW3
SCREW, M2, 3.5mm, PAN HEAD

JP8

Jumper, black, 100mil

JP8

Jumper, black, 100mil

3.5mm M2

PAN HEAD

SCREW6
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

3.5mm M2

PAN HEAD

SCREW6
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

R131 0RR131 0R

3.5mm M2

PAN HEAD
SCREW2
SCREW, M2, 3.5mm, PAN HEAD

3.5mm M2

PAN HEAD
SCREW2
SCREW, M2, 3.5mm, PAN HEAD

R143
4.75K/1%

R143
4.75K/1%

DS15
LED-GREEN

DS15
LED-GREEN

Q28 NDS335NQ28 NDS335N

1

32

JP13

Jumper, black, 100mil

JP13

Jumper, black, 100mil

3.5mm M2

PAN HEAD

SCREW5
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

3.5mm M2

PAN HEAD

SCREW5
Screw, M3, Hex Head, 8mm Length, Steel, Nickel or Zinc plating

NUT5
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

NUT5
Nut, Hex, M3, Steel, Zinc plating, 2.4mm thick, 5.5mm Width

STANDOFF10
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated

STANDOFF10
Standoff, Hex, M2.5, spacer=15.3mm, thread=6mm, Steel, Zinc plated



5

5

4

4

3

3

2

2

1

1

D D

C C

B B

A A

PRODLAN_EECS
PRODLAN_EEDO

PRODLAN_EEDI_LED2

LANISOLATEB

VDD_LAN_1V05

PRODLAN_LED0

PRODLAN_EECS

PRODLAN_EEDO

PRODLAN_EESK_LED1
PRODLAN_EEDI_LED2

VDD_LAN_1V05

VDDLAN1V05SW

VDD_LAN_1V05

P
R

O
D

LA
N

_C
LK

_X
IN

VDD_LAN_1V05

VDD_LAN_1V05

VDD_LAN_1V05

P
R

O
D

LA
N

_C
LK

_X
O

U
T

VDD_LAN_1V05

V
D

D
_L

A
N

_1
V

05

VDD_LAN_1V05

PCIE0_nCLKREQ_T

V
D

D
_L

A
N

_1
V

05

PRODLAN_RSET

PRODLAN_RXP
PRODLAN_RXN

PRODLAN_MDIN0

PRODLAN_MDIN1

PRODLAN_MDIP2
PRODLAN_MDIN2

PRODLAN_MDIP3
PRODLAN_MDIN3

PRODLAN_CT1

PRODLAN_ACT_T

PRODLAN_LINKPRODLAN_EESK_LED1

PRODLAN_CT2

PRODLAN_EEDI_LED2

PRODLAN_ACT

PRODLAN_LED0

PRODLAN_MDIP0

PRODLAN_MDIP1

PRODLAN_EESK_LED1

PRODLAN_CLK_XOUT

PRODLAN_CLK_XIN

LANISOLATEB

PRODLAN_nWAKE

PRODLAN_nWAKE

PRODLAN_EEDI_LED2

PRODLAN_GPO

3V3SBY

3V3SBY3V3SBY

3V3SBY

3V3SBY

3V3SBY

3V3SBY

3V3SBY

3V3SBY

3V3SBY

3V3SBY

3V3SBY

3V3SBY

PCIE_P_CLK_N6
PCIE_P_CLK_P6

PCIE_P_TX_P6
PCIE_P_TX_N6

PCIE0_nRST_I2CGPIO064,6,8

PCIE0_nCLKREQ2,4,6

PCIE_P_RX_P6
PCIE_P_RX_N6

CAM_VSYNC/GPIO34 2,4,5
CAM_CLK/GPIO35 2,4,5
CAM_MCLK/GPIO32 2,4,5
CAM_HSYNC/GPIO33 2,4,5

PMC_nRST2
PMC_SCK2

PMC_MISO/PMC_MISC12
PMC_MOSI2

SPI2_CLK/GPIO23 2

SPI2_MOSI/SD0_PWREN/GPIO22 2
SPI2_MISO/SD0_CD/GPIO20 2

PMC_nRST2
PMC_SCK2

PMC_MISO/PMC_MISC12
PMC_MOSI2

CAM_VSYNC/GPIO34 2,4,5

BOOT_SCR12
BOOT_SCR22

BOOT_SCR02,8

LCDnRST 5,8SYSRST_OUTn2,5

PCIE0_nRST_I2CGPIO06 4,6,8

PMC_MISO/PMC_MISC12
PMC_MOSI 2PMC_SCK2

PMC_nRST2

I2S1_BCLK/SSP_SFRM/GPIO532,5

PCIE_P_nWAKE6

I2S1_SDO/SSP_RXD/GPIO552,5

Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

9 9Wednesday, September 29, 2010

SB-A510    09. PRODUCTION
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

9 9Wednesday, September 29, 2010

SB-A510    09. PRODUCTION
Size

Document Number:

Rev

Date: Sheet of

All Right reserved.
Unauthorized duplication prohibited

Title

CompuLab Ltd.  (972) 4 8290100
P.O.Box 66
Nesher 36770, Israel

8001510000
1.0Custom

9 9Wednesday, September 29, 2010

SB-A510    09. PRODUCTION

EXACT CAP/S
Value is TBD

EXACT
CAP/S
Value is
TBD

PRODUCTION LAN

DNP

PRODUCTION OPTIONSEXTRA BOOT PROVIOSIONS

DNP

DNP

PERIPHERAL RESET PROVIOSION

EXTERNAL PIC PROGRAMMER HEADER

DNP

DNP

DNPDNP

Only Assembled with the PROD option

Only Assembled with the PROD option

C129

1uF

C129

1uF

R157
10.5K/1%
R157
10.5K/1%

RN18
0R/8P4R
RN18
0R/8P4R

1
2
3
4

8
7
6
5

R153

475R/1%

R153

475R/1%

X1
25.000MHz

X1
25.000MHz

1
3

R149 2.49K/1%R149 2.49K/1%

R154 0RR154 0R

R156 0RR156 0R

C134

100nF

C134

100nF

RTL8111D

U17

RTL8111D

U17

D
V

D
D

12
_1

13
G

N
D

_2
14

H
S

IP
15

H
S

IN
16

G
P

O
23

R
E

F
C

LK
_P

17
R

E
F

C
LK

_N
18

E
V

D
D

12
19

H
S

O
P

20
H

S
O

N
21

E
G

N
D

22

N
C

24

AVDD33_1 1

MDIP0 2

MDIN0 3

FB12 4

MDIP1 5

MDIN1 6

GND_1 7

MDIP2 8

MDIN2 9

AVDD12_1 10

MDIP3 11

MDIN3 12

EESK/LED135

EEDI/AUX/LED234

EEDO/LED333

EECS32

A
V

D
D

12
_2

39

DVDD12_336

GND_331

DVDD12_230

VDD33_129

ISOLATEB28

PERSTB27

LANWAKEB26

CLKREQB25

R
S

E
T

46

V
D

D
S

R
_1

44

G
N

D
47

C
K

T
A

L2
42

C
K

T
A

L1
41

A
V

D
D

33
_2

40

V
D

D
S

R
_2

45

LE
D

0
38

S
R

T
12

48

V
D

D
33

_2
37

E
N

S
R

43

U18

93C46/DFN

U18

93C46/DFN

CS 1

CLK 2

DI 3

DO 4Vss5
ORG6
NC7
Vcc8

R155
10.5K/1%
R155
10.5K/1%

C132

100nF

C132

100nF

C127

100nF

C127

100nF

C130

10nF

C130

10nF

22uF

C118

22uF

C118

GREEN

GREEN

Yellow

1
2

6
3

5
4

8
7

RJ45 side

P20

1Gbit_RJ45

GREEN

GREEN

Yellow

1
2

6
3

5
4

8
7

RJ45 side

P20

1Gbit_RJ45

MDI0+P1

MDI0-P2

MDI1+P3

MDI1-P4

LED1 CP11

LED1 AP12

LED2 CP13

LED2 AP14

S
H

IE
LD

S
1

S
H

IE
LD

S
2

MDI2+P7

MDI2-P8

MDI3+P9

MDI3-P10

CTP5

CTP6

C137

1uF

C137

1uF

10uF

C120

10uF

C120

R181 4.75K/1%R181 4.75K/1%

C11627pF C11627pF

R172 4.75K/1%R172 4.75K/1%

C138

1uF

C138

1uF

P23P23

1
3
5

2
4
6

R170 4.75K/1%R170 4.75K/1%

R1840R R1840R

C121

100nF

C121

100nF

C123
100nF
C123
100nF

R150
10.5K/1%
R150
10.5K/1%

C119

100nF

C119

100nF

C124

100nF

C124

100nF

R134 0RR134 0R

C135

100nF

C135

100nF

R1510R R1510R

C133

100nF

C133

100nF

L19
4.7uH

L19
4.7uH

C131

100nF

C131

100nF

C125

100nF

C125

100nF

C126

100nF

C126

100nF

R180 4.75K/1%R180 4.75K/1%

C128

100nF

C128

100nF

C122
100nF
C122
100nF

RN17
0R/8P4R
RN17
0R/8P4R

1
2
3
4

8
7
6
5

R179 4.75K/1%R179 4.75K/1%

C11727pF C11727pF

R133 0RR133 0R

R152

475R/1%

R152

475R/1%

22uF

C136

22uF

C136

D5
BAT54A

D5
BAT54A

1
3

2

R171 4.75K/1%R171 4.75K/1%


